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QUESTION 1

A state transition is not supposed to be available as a clickable action in a form at runtime but it appears anyway. Why? 

A. The state transition is not configured to be excluded in the Sub Action properties. 

B. The Hidden Action property is not configured correctly in the State Transition properties. 

C. The Default Display property is not configured to be excluded in the Sub Action properties. 

D. The Secondary Action property is not configured correctly in the State Transition properties. 

Correct Answer: A 

 

QUESTION 2

A new classification has been defined and the developer is ready to create the new classification\\'s local root. From the
Hierarchy pane the focus is placed on the Classification root node and the option New is selected. The new
classification does not show up as an option in the Hierarchy pane drop-down as a valid child that can be added to the
root. 

What could be wrong? 

A. The new classification\\'s form has not been added to the Includes/Forms tab of the new classification\\'s form. 

B. The new classification\\'s form has not been added to the Includes/Forms tab of the root classification form. 

C. The new classification\\'s form has not been added to the Includes/Forms tab of the classification business object
(BO). 

D. The new classification\\'s form has not been added to the Includes/Forms tab of the new classifications BO. 

Correct Answer: B 

 

QUESTION 3

Several organization records appear in reports but do not appear in the Organization hierarchy. What should be the first
item to validate during the troubleshooting process for the records in question? 

A. verify that the records have the required Primary Organization association to the organization\\'s root node in the
hierarchy 

B. verify that the records have forward and reverse association strings of Included In and Includes to other records in
the hierarchy 

C. verify that the records have forward and reverse association strings of Is Parent Of and Is Child Of to other records in
the hierarchy 

D. verify that the records have forward and reverse association strings of Primary Location and Primary Location Of to
other records in the hierarchy 
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Correct Answer: C 

 

QUESTION 4

Which task has the option of forcing a recalculation of formulas? 

A. Trigger Formula 

B. Modify Metadata 

C. Retrieve Records 

D. Associate Records 

Correct Answer: D 

 

QUESTION 5

Click the Exhibit button. 
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What does this Association Tree diagram definitively indicate? 

A. Wisconsin is mistakenly classified as a World Region. 

B. Wisconsin is not directly associated to North America. 

C. Wisconsin is associated to at least three geography records. 

D. Wisconsin is associated to a record in the triIntermediate module. 

Correct Answer: C 
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